TS PGECET Aerospace Engineering 11th Aug 2021 Shift 2

Question | Answers
1

—_

Ol |IN|OO(a|~|[wW]IN

—_
o

—_
—_

N
N

-
SN

—_
()]

N
()]

-
~

RN
0]

-
©

N
o

N
—_

N
N

N
w

N
w
NfWw|=|d|2[R][R[OW]W|R]2[2NIN]2 WA IN[[~|O|[H~IN]|®

N
NS

L
@collegedunlag
India’s largest Student Review Platform

~



25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

2 |2 ININI®[2][R[O]BARINO[AIN[2IN]|2A|OW[(W[([R|W[P|W[2VW[([OW|R|WIN]DN

v

~

collegedunia:s

India’s largest Student Review Platform



54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

72

73

74

75

76

77

78

79

80

81

82

[NCJ N IRTC TN [ N [P [P NG [FSURN NG NG (U (DS NG IYGVIN I NCJ IPSQ Y GURN PN NG (PO (PO [YOCTN [ NG G I NG NS VO ORI )

v

~

collegedunia:s

India’s largest Student Review Platform



83

84

85

86

87

88

89

90

91

92

93

94

95

96

97

98

99

100

101

102

103

104

105

106

107

108

109

110

111

[NCJ I NG [P [P Y R YOV IYGUN [P I IO I NO I NN NG IYOCIN I NG IF OB IFGOTN NG I NCJ [N (PR (D (YGUR) IYGVRN I NG NG IFSCRS IO IS

-

~

collegedunia:

India’s largest Student Review Platform



112

113

114

115

116

117

118

119

120

NI=2ININDNINDN|WO[WwW|Ww|>

-

~

collegedunia:

India’s largest Student Review Platform



